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paper.
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Attempt any Five questions.

All guestions carry equal marks.
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1. (a) A trade mark devoid of distinctive character
cannot be registered. Discuss and refer to decided

casces.
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(b) Discuss the suitability of following trade marks
for registration under Trade Marks Act, 1999 :

(i) Rasoi for hydrogenated oils

(i) Ganga for mineral water (20)

(%) va =R fage girar d@a fva 89 e ooliga F8t
B g | fafeile arl = a9 e =

(@) =R R sftfes, 1999 & qga e @R fear &
TR H JugEddl d e #

(i) @, Iguia 9w & fow
(i) 7w, @eg T & forg

2. What is a well known trade mark under the Trade
Mark Act, 1999. Discuss the relevant factors for
determining a trade mark to be well known under the
Act.

Can a trade mark CARREFOR registered in various
countries by ‘Y’ for furniture and other retail products
supplied through the retail chains outside India be
registered by ‘X’ in India for furniture. The mark is
not registered in India for furniture. Y plans to open
a retail chain in India with mark ‘CARREFOR’ for
selling products except furniture. Give reasons for

your answer. (20)



2093 3
=R fEa #faFaw, 1999 & siEla sgafiia =R R =
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T & @R fugT CARREFOR &t Y & g fafe
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- urd ¥ 9% T vk @ fr oe 98 2 Y, e A
FAER P BIREH 3 3@ @ ‘CARREFOR’ fga &
T UH G @A @ A 2 1 I IR @ o

TN T |

3. What is the difference between passing off and
infringement action in Trade Marks. X’ is using mark
‘OCUFLOX’ for a drug used in treatment of eyes
containing a compound Ofloxacin. ‘Y’ files a sent for
passing off against ‘X’ claiming that he is the prior
user of mark OCUFLOCK for the drug used for the
treatment of eye and ear having compound
Ciprofloxacin HCL. He further contends that
OCUFLOX is deceptively similar to its trade mark
OCUFLOCK. ‘X’ replied that both the drugs are
Schedule L drugs which can be sold only in hospitals
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and hence cannot cause confusion & deception.

Decide refering to judicial decisions.

What are the factors to be considered in deciding
the question of deceptive similarity in passing off
action. 20)

R A w1 ‘uer I uE Cafdews ¥ o fase
27

X, ‘OCUFLOX’ &gt &1 va @are @ Ofloxacin 3eicer
2 T I7A HE } WF siE & faw B o vEe A awh
21 Y 78 @/ @ §¢ f% 98 OCUFLOCK Free =t s+t
Tag & |y @ Ciprofloxacin HCL 3wee 2, @ wd
T H SO @ oY, W ¥ A w8, X @ fawg wen
I F TH AT TR HE B | X AW ¥ <@l w2
AN T@C ‘L7 IERE Tar @ e haw semaet § 8
TN O TR B IR ZAferT AE W vE elikEr A8 B qehe |
e FvEal @ gaEn o gy foln W)

T T B are ¥ U e = FHuilRe @ 9 9@
TT-HT Y TP

4. What is new and original design ? Discuss the law
relating to registrability and cancellation of design
under the Design Act, 2000. (20)
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5. (a) Copyright exists in expression of ideas. Discuss

and refer to judicial decisions.

(b) What is the meaning of word ‘original’ under
S.13(1)(a) of the Copyright Act, 1957. Cite
precedents. (20)

(&) amon & it 3§ wiifraer R g @ 7 e
w T e Feid @ geen afw

(@) wRfrafter sfafam, 1957 &t ar 13(1)(a) & F=Ew
rE We ¥ T s 2 7 ud fvR @ Sgu
|

6. (a) What are the rights in the original literary works
under S.14 of the Copyright Act, 1957.

(b) ‘X’ prepares the question of Mathematics for B.Sc.
(Mathematics) for Delhi University ‘Y’ published
the question papers of premium years including

paper of ‘X’ in a booklet. The University files a

P.T.O.
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suit of copyright infringement against ‘Y’. ‘Y’
contends that the University is not first owner of
copyright in question papers. Decide refering to
the legal provisions under the Copyright Act, 1957
and judicial precedents. (20)

(&) wiaforanfereer sfafam, 1957 & 4@ 14 & A

TonqE aifefeas w1 A w9 ¥ SfUER ¥ 7

(@) X, it foafeaem & fow Aow@ohlo (W) =

forg Y veTE TR wET R 1 Y, X & ue 9 afed
fiod ol & W TR H TE e A DO B
frmafaarem wfRaforanfierr sifoetad o1 9 IR e 2 |
Y ¥ 31 8 W U ¥ Fmafaaem e feferanfier
wiferer & ® 1| wiaforaiter sffew, 1957 & seEid
faftrs Sweml ve fafoifa et =1 samen 3@ g9 e
cadl

What is the object of Patent system ? Explain the
patentable and non patentable inventions under the
Patent Act, 1970. (20)

e U & w IEW B 7 Yo fufaH, 1970 &

Jqta ‘Gee ang’ ud Uowe 7 fpu W ang sifRsmrl e

IR Y |
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8.  Write short notes on any two of the following :

(a) Tarnishment of trade marks by Comparative

Advertising

(b) Abridgement of work under the Copyright Act,
1957

(c) Rights of Broadcasting organisations (20)
Frrfofer ¥ 3 el @ e A oo Ry -
(%) =mR fEA & T wer
(@) vwiaforanfoer sfofaw, 1957 & sl o=@ &1 e

(1) yERUTERET WA & HUER

(1200)
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